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Peminte ypaBHeHUe

1.a) (2sinx+1)(2cosx—3)=0, 6) (2siny —1)(2cosy —3) =0.
.a) (3sinx—4) (vV2cosx—1)=0, 6) (7sinx+9)(v2cosx+1)=0.
.a) (3cosx+4)(tgx—+/3) =0, 6) (5cosx—7)(V3tgx+1)=0.
.a) (3sinx—2)(2sinx—3)=0, 6) (5siny+4)(4siny+5)=0.

Vi b WD

o 1 - _1
. @) sin(—5x) cos 5x = Wik 6) sin(—6y) cos6y = 7.

.a) 2cos?6x=2sin?6x+ /3, 6) 2cos®2y=2sin’2y — V2.
. a) sinx(5cosx+2)=cosx(5sinx+2),

6) siny(7cosy —1)=cosy(7siny — 1).
8.a) 4cos’x—12cosx+5=0, 6) 10sin*z+9sinz—7=0.
9. a) 10sin’z+19sinz+7=0, 6) 10cos’y—19cosy+7=0.
10. a) 2sinx+5cosx+1=0, 6) 2sin°y—7cosy+2=0.
11. a) 4cos®x —4sinx—1=0, 6) 4sin®x+12cosx+3=0.

N O

12. a) cos2x=>5sinx— 2, 6) cos2z=—9cosz+4.
13. a) 2cos2x =8cosx + 3, 6) 2cos2y =4cosy + 1.
14. a) 7sin2y =2siny, 6) 9sin2x =2sinx.

15. a) (3cosx +8sinx)?2=12+ 55sin? x,
6) (3cosy + 7sin y)2=12+40sin? y.
(5x—-7m)(7x —5m) (7x—8m)(8x —7m) _

16. =0, 6 0.
2) vsinx ) vsinx
Ry +7n)(4y+7n)(8y+7n)
17. a) Ry =0,
6) 2y+9m)(4y —9m)(13y —97) —0
J/COS y o
4cosx—3 7cosy—5
18. a =0, 6 =0.
) tg x ) JVigy
Ssinx—2 6sinz+5 _
19. a) Joosz O 6) e
3 tgz+4
20.2) 2212 g 6) B2+4 _
—sinx —COS 2
2sinx—v2 2sinz+1
21. a) /g% =0, 6) Jiaz 0.
x?—5x+6 z2—2z—3
22. =0, 6 =0.
2) v/ COos x ) vsing
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23. a) ———=0, 6) =0.
- /—siny
3sin’ x —2sinx sinz(7sinz—2)
24. a) cosx—1 =0, 6) cosz —1 =0
cos4x COSSX
25. a) sin4x + 1 =0, 6) sinSx — 1 =0.
26. a) arccos x =arctg 3; 6) arcsin x =arctg2.
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a) arctg x + arctg % = — %; 6) arcctgx -+ arcsin E =7

a) arcsin x —arcsin % =arcsin0,9; 6) arccosx —2 arctg 2=arctg g :

2 _ —
a) arcsin X +gx 3 + arcsin x3—3 =0;

6) arccos(4x? —11x +5) +arccos(3x% —14x+7) =.

a) arctg(4x? — 8x —9) +arctg 16x% =0;

2_8x—-36
4

a) arcsin(2x3 + 2x? — 3x — 0,2) = arcsin(3x? — 2x —0,2);

6) arccos(2x3 + 5x2 + x + 0,2) = arccos(2x + 4x2+0,2).

a) (x? —5x + 6) arcsin % =0;

+ arctg x?=0.

6) arctg X

6) (xx+2)(2x?%— 7x + 3) arccos % =0.

a) arcsin(sinx) = %; 6) arcsin(sinx) =2x— 1.
a) arcsin(x+v/3) = 6%; 6) 6arcsin % =1(3—x).

a) arcsin(x+/3) + arcsin x = %; 6) arcsinx + arctgx = %n.
a) arccos x + arccos 2x = % ;  6) arccosx + arcctg 4x =T.

a) arccos? % + 4 arcsin®(x +2) =27%;

6) arcsin® x + arccos?(2x —3) = 251_712.

. /L4 . /A4
a) | arcsin x|+ arccos x = 5 6) arcsin x + | arccos x| = 5

a) sin(arcsin(x +2)) +|4x+1|= %;
6) cos(arccos(x —3)) +|2x—1|= 12_3

a) arcsin(x + 1) +arcsin(y — 1) =m;
6) arccos(x + y) + arccos(x — y) =0.
a) arcsin v 3x —2=arcctg v2x — 2;

6) arccos - 3’;_ 1_ arcctg v2x — 1.





[image: image3.png]42. a) arctg v/3 — x = arccos x2— 3 ;
6) arcctg(3x —2) =arctg(2x — 1).
43. a) arcsin x =2 arccos x; 6) 2 arctg x = arcctg(x — 1).
44, a) arcsin 2x = 3 arcsin x; 6) arctg(x — 1) =3 arctg(x+1).
45. a) 2 arcsin 2x = arccos 7x; 6) arccos(x — 1) =2 arccos x.
46. arcsin x =arccos v'1 — x; 6) arccos 5 > =2ar ctg(x - 1.
47. a) arcsinx =2 arctg x; 6) 2 arctgx + arctg — =TT,
48. a) arcsin % + arccos 2y = 37%; 6) arcsin 5 +arccos2y = 3%
X y__3m £ _ y_n
49. a) arcsin 3 —arccos y =—=-; 6) arcsin g —arccost =7.

50.

2
a) (7t +arcsinx) arccos y = BT;
2

: 3
6) arcsin® x -arccosy = R




